GWD-TN-14: Verbal Section

------------------------------------------------------------------------------------------------------------

1. GWD-18-Q1

The Arthritis Research Institute of America advises women of color that they have twice the likelihood to get osteoarthritis of the knee as do White women.

A. that they have twice the likelihood to get osteoarthritis of the knee as do White women

B. that they are twice as likely as White women to get osteoarthritis of the knee

C. that their likelihood of getting osteoarthritis of the knee is twice as much as White women

D. of being twice as likely as White women to get osteoarthritis of the knee

E. of having twice the likelihood of getting osteoarthritis of the knee as White women

------------------------------------------------------------------------------------------------------------
2. GWD17-Q9: （CD-9 Q10）
Press Secretary:  Our critics claim that the President’s recent highway project cancellations demonstrate a vindictive desire to punish legislative districts controlled by opposition parties.  They offer as evidence the fact that 90 percent of the projects canceled were in such districts.  But all of the canceled projects had been identified as wasteful in a report written by respected nonpartisan auditors.  So the President’s choice was clearly motivated by sound budgetary policy, not partisan politics.

Which of the following is an assumption on which the press secretary’s argument depends?

A. Canceling highway projects was not the only way for the President to punish legislative districts controlled by opposition parties.

B. The scheduled highway projects identified as wasteful in the report were not mostly projects in districts controlled by the President’s party.

C. The number of projects canceled was a significant proportion of all the highway projects that were to be undertaken by the government in the near future.

D. The highway projects canceled in districts controlled by the President’s party were not generally more expensive than the projects canceled in districts controlled by opposition parties.

E. Reports by nonpartisan auditors are not generally regarded by the opposition parties as a source of objective assessments of government projects.

------------------------------------------------------------------------------------------------------------

3. TT-GWD 2-33

When an active tooth in the shark’s jaws is lost or worn down, many spare teeth lie in seemingly limitless reserve, each of which are ready to slide into the appropriate position.

A. When an active tooth in the shark’s jaws is lost or worn down, many spare teeth lie in seemingly limitless reserve, each of which are ready to slide into the appropriate position.

B. Whenever an active tooth is lost or worn down, many spare teeth lie in seemingly limitless reserve in the shark’s jaws, which are each ready to slide into the appropriate position.

C. Many spare teeth lie in seemingly limitless reserve in the shark’s jaws, each one of which are ready to slide into the appropriate position when an active tooth is lost or worn down.

D. The many spare teeth lying in seemingly limitless reserve in the shark’s jaws, each one of which is ready to slide into the appropriate position whenever an active tooth is lost or worn down.

E. In the shark’s jaws, many spare teeth lie in seemingly limitless reserve, each one ready to slide into the appropriate position whenever an active tooth is lost or worn down.

------------------------------------------------------------------------------------------------------------
Q4~Q7:GWD-18-Q3-Q6
    The idea that equipping homes with electrical appliances and other “modern” household technologies would eliminate drudgery, save labor time, and increase leisure for women who were full-time home workers remained largely unchallenged until the women’s movement of the 1970’s spawned the groundbreaking and influential works of sociologist Joann Vanek and historian Ruth Cowan. Vanek analyzed 40 years of time- use surveys conducted by home economists to argue that electrical appliances and other modern household technologies reduced the effort required to perform specific tasks, but ownership of these appliances did not correlate with less time spent on housework by full-time home workers. In fact, time spent by these workers remained remarkably constant― at about 52 to 54 hours per week― from the 1920’s to the 1960’s, a period of significant change in household technology.  In surveying two centuries of household technology in the United States, Cowan argued that the “industrialization” of the home often resulted in more work for full-time home workers because the use of such devices as coal stoves, water pumps, and vacuum cleaners tended to reduce the workload of married-women’s helpers (husbands, sons, daughters, and servants) while promoting a more rigorous standard of housework.  The full-time home worker’s duties also shifted to include more household management, child care, and the post-Second World War phenomenon of being “Mom’s taxi.”

-------------------------------------------------------------------
Q4: GWD-18-Q3
According to the passage, which of the following is true about the idea mentioned in line1?

A. It has been undermined by data found in time-use surveys conducted by home economists.

B. It was based on a definition of housework that was explicitly rejected by Vanek and Cowan.

C. It is more valid for the time period studied by Cowan than for the time period studied by Vanek.

D. It is based on an underestimation of the time that married women spent on housework prior to the industrialization of the household.

E. It inaccurately suggested that new household technologies would reduce the effort required to perform housework.

------------------------------------------------------------------

Q5: GWD-18-Q4:

The passage is primarily concerned with

A. analyzing a debate between two scholars

B. challenging the evidence on which a new theory is based

C. describing how certain scholars’ work countered a prevailing view

D. presenting the research used to support a traditional theory

E. evaluating the methodology used to study a particular issue

 --------------------------------------------------------------------Q6: GWD-18-Q5
Which of the following best describes the function of the sentence in lines 21-26 (“In fact, time … in household technology”)? 

A. It offers an alternative interpretation of a phenomenon described in the previous sentence (lines 12-20).

B. It provides the specific evidence on which an argument described in the previous sentence (lines 12-20) is based.

C. It shifts the focus of the argument developed earlier in the passage.

D. It introduces evidence that has not been taken into account by Vanek and Cowan.

E. It introduces a topic for discussion that will be developed in the rest of the passage.

 -------------------------------------------------------------------Q7: GWD-18-Q6
The passage suggests that Vanek and Cowan would agree that modernizing household technology did not

A. 

reduce the workload of servants and other household helpers

B. raise the standard of housework that women who were full-time home workers set for themselves

C. decrease the effort required to perform household tasks

D. reduce the time spent on housework by women who were full-time home workers

E. result in a savings of money used for household maintenance

Q8~Q10：GWD-18-Q8 to Q10:

      The term “episodic memory” was introduced by Tulving to refer to what he considered a uniquely human capacity—the ability to recollect specific past events, to travel back into the past in one’s own mind—as distinct from the capacity simply to use information acquired through past experiences.  Subsequently, Clayton et al. developed criteria to test for episodic memory in animals.  According to these criteria, episodic memories are not of individual bits of information; they involve multiple components of a single event “bound” together.  Clayton sought to examine evidence of scrub jays’ accurate memory of “what,” “where,” and “when” information and their binding of this information.  In the wild, these birds store food for retrieval later during periods of food scarcity.  Clayton’s experiment required jays to remember the type, location, and freshness of stored food based on a unique learning event.  Crickets were stored in one location and peanuts in another.  Jays prefer crickets, but crickets degrade more quickly.  Clayton’s birds switched their preference from crickets to peanuts once the food had been stored for a certain length of time, showing that they retain information about the what, the where, and the when.  Such experiments cannot, however, reveal whether the birds were reexperiencing the past when retrieving the information.  Clayton acknowledged this by using the term “episodic-like” memory.

--------------------------------------------------------------------



8. GWD-18-Q8
According to the passage, part of the evidence that scrub jays can bind information is that they

A. showed by their behavior that they were reexperiencing the past

B. used information acquired through past experiences

C. assessed the freshness of food that had been stored by other jays

D. remembered what kind of food was stored in a particular location

E. recollected single bits of information about sources of food

--------------------------------------------------------------------
9. GWD-18-Q9
It can be inferred that the author of the passage and Clayton would both agree that

A. the food preferences of the scrub jays in Clayton’s experiment are difficult to explain

B. the presence of episodic memory cannot be inferred solely on the basis of observable behavior

C. Clayton’s experiment demonstrated that scrub jays do not reexperience the past but do exhibit episodic-like memory

D. Tulving substantially underestimated the ability of animals to bind different kinds of information

E. Clayton’s experiment had certain fundamental design flaws that make it difficult to draw any conclusions about scrub jay’s memories

-------------------------------------------------------------------
10. GWD-18-Q10
In order for Clayton’s experiment to show that scrub jays have episodic-like memory, which of the following must be true in the experiment?

A. Some of the jays retrieved stored peanuts on the first occasion they were allowed to retrieve food.

B. All the crickets were retrieved before any of the peanuts were.

C. The peanuts were stored further away than the crickets.

D. When a jay attempted to retrieve a cricket or a peanut, the jay was prevented from eating it.

E. Throughout the experiment the jays were fed at levels typical of a time of scarcity.

11. GWD17-Q11: 
Some species of Arctic birds are threatened by recent sharp increases in the population of snow geese, which breed in the Arctic and are displacing birds of less vigorous species.  Although snow geese are a popular quarry for hunters in the southern regions where they winter, the hunting season ends if and when hunting has reduced the population by five percent, according to official estimates.  Clearly, dropping this restriction would allow the other species to recover.

Which of the following, if true, most seriously undermines the argument?

A. Hunting limits for snow geese were imposed many years ago in response to a sharp decline in the population of snow geese.

B. It has been many years since the restriction led to the hunting season for snow geese being closed earlier than the scheduled date.

C. The number of snow geese taken by hunters each year has grown every year for several years.

D. As their population has increased, snow geese have recolonized wintering grounds that they had not used for several seasons.
E. In the snow goose’s winter habitats, the goose faces no significant natural predation.
------------------------------------------------------------------------------------------------------------
12. GWD17-Q12:

Mauritius was a British colony for almost 200 years, excepting for the domains of administration and teaching, the English language was never really spoken on the island.

A. excepting for

B. except in

C. but except in

D. but excepting for

E. with the exception of

------------------------------------------------------------------------------------------------------------
13. GWD-18-Q13

Eurasian watermilfoil, a weed not native to Frida Lake, has reproduced prolifically since being accidentally introduced there.  In order to eliminate the weed, biologists proposed treating infested parts of the lake with a certain herbicide that is nontoxic for humans and aquatic animals.  However, the herbicide might damage populations of certain rare plant species that the lake contains.  For this reason local officials rejected the proposal.

Which of the following, if true, points out the most serious weakness in the officials’ grounds for rejecting the biologists’ proposal?

F. The continuing spread of Eurasian watermilfoil in Frida Lake threatens to choke out the lake’s rare plant species.

G. Because of ecological conditions prevailing in its native habitat, Eurasian watermilfoil is not as dominant there as it is in Frida Lake.

H. The proliferation of Eurasian watermilfoil in Frida Lake has led to reductions in the populations of some species of aquatic animals.

I. Although Eurasian watermilfoil could be mechanically removed from Frida Lake, eliminating the weed would take far longer this way than it would using herbicides.

J. Unless Eurasian watermilfoil is completely eliminated from Frida Lake, it will quickly spread again once herbicide treatments or other control measures cease.

------------------------------------------------------------------------------------------------------------

14. GWD17-Q14:

Whereas lines of competition are clearly defined in the more established industries, in the Internet industry they are blurred and indistinct, as companies that compete one day may be partners the next.

A. Whereas lines of competition are clearly defined in the more established industries, in the Internet industry they are blurred and indistinct, as companies that compete

B. Although the lines of competition are clearly defined in industries that are more established, they are blurred and indistinct in the Internet industry, as competing companies

C. The lines of competition are clearly defined in the more established industries, unlike the Internet where they are blurred and indistinct, as companies that compete

D. Unlike more established industries, where the lines of competition are clearly defined, they are burred and indistinct in the Internet industry, as companies that compete

E. Unlike more established industries, with clearly defined lines of competition, those of the Internet industry are blurred and indistinct, as competing companies

-----------------------------------------------------------------------------------------------------------

15. GWD-18-Q15

Fact:
Asthma, a bronchial condition, is much less common ailment than hay fever, an allergic inflammation of the nasal passages.

Fact:
Over 95 percent of people who have asthma also suffer from hay fever.

If the information given as facts above is true, which of the following must also be true?

A. Hay fever is a prerequisite for the development of asthma.

B. Asthma is a prerequisite for the development of hay fever.

C. Those who have neither hay fever nor asthma comprise less than 5 percent of the total population.

D. The number of people who have both of these ailments is greater than the number of people who have only one of them.

E. The percentage of people suffering from hay fever who also have asthma is lower than 95 percent

------------------------------------------------------------------------------------------------------------

16.  GWD-18-Q16
Aroca City currently funds its public schools through taxes on property.  In place of this system, the city plans to introduce a sales tax of three percent on all retail sales in the city.  Critics protest that three percent of current retail sales falls short of the amount raised for schools by property taxes.  The critics are correct on this point.  Nevertheless, implementing the plan will probably not reduce the money going to Aroca’s schools.  Several large retailers have selected Aroca City as the site for huge new stores, and these are certain to draw large numbers of shoppers from neighboring municipalities, where sales are taxed at rates of six percent and more.  In consequence, retail sales in Aroca City are bound to increase substantially.

In the argument given, the two potions in boldface play which of the following roles?

A. The first presents a plan that the argument seeks to defend against a certain criticism; the second gives part of the basis for that criticism.

B. The first presents a plan that the argument seeks to defend against a certain criticism; the second gives part of the basis for that defense.

C. The first presents a plan that the argument criticizes; the second is a consideration raised by the argument in support of that criticism.

D. The first presents a plan that the argument criticizes; the second presents a consideration that has been raised against that criticism.

E. The first presents a plan whose consequences the argument seeks to evaluate; the second is presented by the argument as one likely consequence that is undesirable.

------------------------------------------------------------------------------------------------------------

17. GWD17-Q17:

Because fish look through water, their eyes are very different from a mammal.

A. from a mammal

B. from a mammal’s

C. from that of a mammal

D. than that of a mammal

E. than is a mammal’s

------------------------------------------------------------------------------------------------------------

18. GWD17-Q18:

Over the course of the eighteenth century, the average output of ironwork tripled as a result of several improvements in blowing machinery and because coal replaced charcoal as the fuel used in the smelting of iron ore.
A. Over the course of the eighteenth century, the average output of ironwork tripled as a result of several improvements in blowing machinery and because coal replaced charcoal as the fuel used in the smelting of iron ore.

B. Over the course of the eighteenth century a tripling in the average output of ironwork was due to the replacement of charcoal by coal for the fuel used in the smelting of iron ore, in addition to several improvements in blowing machinery.

C. With charcoal’s being replaced by coal as the fuel used in the smelting of iron ore and several improvements in blowing machinery, the average output of ironwork tripled over the eighteenth century.

D. The replacement of charcoal with coal for the fuel used in the smelting of iron ore and several improvements in blowing machinery, the average output of ironwork tripled over the eighteenth century.

E. Charcoal being replaced by coal as the fuel used in the smelting of iron ore, and several improvements in blowing machinery, which tripled the average output of ironwork over the course of the eighteenth century.

------------------------------------------------------------------------------------------------------------

19. GWD-18-Q2

According to findings derived from functional magnetic resonance imaging (MRI), the area of the brain in which a second or third language is stored depends on the age of the language learner; whereas each language occupies a distinct area of the brain in an adult learner, language areas overlap in a young child.

A. whereas each language occupies a distinct area of the brain in an adult learner,

B. whereas for adults each language occupies a distinct area of the brain and

C. each language occupies a distinct area of the brain when they are learned by an adult, while

D. each language in adults occupied a distinct area of the brain, while

E. each language occupying a distinct area of the brain for an adult learner, and

------------------------------------------------------------------------------------------------------------

20 GWD17-Q20:

Construction of the Roman Colosseum, which was officially known as the Flavian Amphitheater, began in A.D. 69, during the reign of Vespasian, was completed a decade later, during the reign of Titus, who opened the Colosseum with a one-hundred-day cycle of religious pageants, gladiatorial games, and spectacles.

A. which was officially known as the Flavian Amphitheater, began in A.D. 69, during the reign of Vespasian,

B. officially known as the Flavian Amphitheater, begun in A.D. 69, during the reign of Vespasian, and

C. which was officially known as the Flavian Amphitheater, began in A.D. 69, during the reign of Vespasian, and

D. officially known as the Flavian Amphitheater and begun in A.D. 69, during the reign of Vespasian it

E. officially known as the Flavian Amphitheater, which was begun in A.D. 69, during the reign of Vespasian, and

------------------------------------------------------------------------------------------------------------

21. GWD17-Q21:

Medicare, the United States government’s health insurance program for the elderly and disabled, covers the full cost of home health care, but not with other nonhospital services where 20 percent of the costs must be paid by beneficiaries.

A. but not with other nonhospital services where 20 percent of the costs must be paid by beneficiaries

B. but not of other nonhospital services, making beneficiaries pay 20 percent of the costs

C. but not of other nonhospital services, for which beneficiaries must pay 20 percent of the costs

D. which is unlike other nonhospital services in that 20 percent of the costs must be paid by beneficiaries

E. which is unlike other nonhospital services that make beneficiaries pay 20 percent of the costs

------------------------------------------------------------------------------------------------------------
22. GWD-18-Q22
In each of the past five years, Barraland’s prison population has increased.  Yet, according to official government statistics, for none of those years has there been either an increase in the number of criminal cases brought to trial, or an increase in the rate at which convictions have been obtained.  Clearly, therefore, the percentage of people convicted of crimes who are being given prison sentences is on the increase.

Which of the following, if true, most seriously weakens the argument?

A. In Barraland the range of punishments that can be imposed instead of a prison sentence is wide.

B. Over the last ten years, overcrowding in the prisons of Barraland has essentially been eliminated as a result of an ambitious program of prison construction.

C. Ten years ago, Barraland reformed its criminal justice system, imposing longer minimum sentences for those crimes for which a prison sentence had long been mandatory.

D. Barraland has been supervising convicts on parole more closely in recent years, with the result that parole violations have become significantly less frequent.

E. The number of people in Barraland who feel that crime is on the increase is significantly greater now than it was five years ago.

------------------------------------------------------------------------------------------------------------
23. GWD17-Q23:

Because visual inspection cannot reliably distinguish certain skin discolorations from skin cancers, dermatologists at clinics have needed to perform tests of skin tissue taken from patients.  At Westville Hospital, dermatological diagnostic costs were reduced by the purchase of a new imaging machine that diagnoses skin cancer in such cases as reliably as the tissue tests do.  Consequently, even though the machine is expensive, a dermatological clinic in Westville is considering buying one to reduce diagnostic costs.

Which of the following would it be most useful for the clinic to establish in order to make its decision?

A. Whether the visits of patients who require diagnosis of skin discolorations tend to be shorter in duration at the clinic than at the hospital

B. Whether the principles on which the machine operates have been known to science for a long time

C. Whether the machine at the clinic would get significantly less heavy use than the machine at the hospital does

D. Whether in certain cases of skin discoloration, visual inspection is sufficient to make a diagnosis of skin cancer

E. Whether hospitals in other parts of the country have purchased such imaging machines

------------------------------------------------------------------------------------------------------------

GWD17-Q24 to Q27:

      In 1938, at the government-convened National Health Conference, organized labor emerged as a major proponent of legislation to guarantee universal health care in the United States.  The American Medical Association, representing physicians’ interests, argued for preserving physicians’ free-market prerogatives.  Labor activists countered these arguments by insisting that health care was a fundamental right that should be guaranteed by government programs.

      The labor activists’ position represented a departure from the voluntarist view held until 1935 by leaders of the American Federation of labor (AFL), a leading affiliation of labor unions; the voluntarist view stressed workers’ right to freedom from government intrusions into their lives and represented national health insurance as a threat to workers’ privacy.  AFL president Samuel Gompers, presuming to speak for all workers, had positioned the AFL as a leading opponent of the proposals for national health insurance that were advocated beginning in 1915 by the American Association for Labor Legislation (AALL), an organization dedicated to the study and reform of labor laws.  Gompers’ opposition to national health insurance was partly principled, arising from the premise that governments under capitalism invariably served employers’, not workers’, interests. Gompers feared the probing of government bureaucrats into workers’ lives, as well as the possibility that government-mandated health insurance, financed in part by employers, could permit companies to require employee medical examinations that might be used to discharge disabled workers.

      Yet the AFL’s voluntarism had accommodated certain exceptions:  the AFL had supported government intervention on behalf of injured workers and child laborers.  AFL officials drew the line at national health insurance, however, partly out of concern for their own power.  The fact that AFL outsiders such as the AALL had taken the most prominent advocacy roles antagonized Gompers.  That this reform threatened union-sponsored benefit programs championed by Gompers made national health insurance even more objectionable.

      Indeed, the AFL leadership did face serious organizational divisions.  Many unionists, recognizing that union-run health programs covered only a small fraction of union members and that unions represented only a fraction of the nation’s workforce, worked to enact compulsory health insurance in their state legislatures.  This activism and the views underlying it came to prevail in the United States labor movement and in 1935 the AFL unequivocally reversed its position on health legislation.

-------------------------------------------------------------------

24. Q24:

The passage suggests which of the following about the voluntarist view held by leaders of the AFL regarding health care?

A. It was opposed by the AALL.

B. It was shared by most unionists until 1935.

C. It antagonized the American Medical Association.

D. It maintained that employer-sponsored health care was preferable to union-run health programs.

E. It was based on the premise that the government should protect child laborers but not adult workers.

--------------------------------------------------------------------
25. Q25:

The primary purpose of the passage is to

A. account for a labor organization’s success in achieving a particular goal

B. discuss how a labor organization came to reverse its position on a particular issue

C. explain how disagreement over a particular issue eroded the power of a labor organization

D. outline the arguments used by a labor organization’s leadership in a particular debate

E. question the extent to which a labor organization changed its position on a particular issue

--------------------------------------------------------------------
26. Q26:

Which of the following best describes the function of the sentence in lines 42-45 (“Yet … child laborers”)?

A. It elaborates a point about why the AFL advocated a voluntarist approach to health insurance.

B. It identifies issues on which the AFL took a view opposed to that of the AALL.

C. It introduces evidence that appears to be inconsistent with the voluntarist view held by AFL leaders.

D. It suggests that a view described in the previous sentence is based on faulty evidence.

E. It indicates why a contradiction described in the previous paragraph has been overlooked by historians.

-------------------------------------------------------------------


27. Q27:

According to the passage, Gompers’ objection to national health insurance was based in part on his belief that

A. union-sponsored health programs were less expensive than government-sponsored programs

B. most unionists were covered by and satisfied with union-sponsored health programs

C. it would lead some employers to reduce company-sponsored benefits

D. it could result in certain workers unfairly losing their jobs

E. the AFL should distance itself from the views of the American Medical Association

28. GWD-18-Q20
Environmental organizations want to preserve the land surrounding the Wilgrinn Wilderness Area from residential development.  They plan to do this by purchasing that land from the farmers who own it.  That plan is ill-conceived:  if the farmers did sell their land, they would sell it to the highest bidder, and developers would outbid any other bidders.  On the other hand, these farmers will never actually sell any of the land, provided that farming it remains viable.  But farming will not remain viable if the farms are left unmodernized, and most of the farmers lack the financial resources modernization requires.  And that is exactly why a more sensible preservation strategy would be to assist the farmers to modernize their farms to the extent needed to maintain viability.

In the argument as a whole, the two boldface proportions play which of the following roles?

A. The first presents a goal that the argument rejects as ill-conceived; the second is evidence that is presented as grounds for that rejection.

B. The first presents a goal that the argument concludes cannot be attained; the second is a reason offered in support of that conclusion.

C. The first presents a goal that the argument concludes can be attained; the second is a judgment disputing that conclusion.

D. The first presents a goal, strategies for achieving which are being evaluated in the argument; the second is a judgment providing a basis for the argument’s advocacy of a particular strategy.

E. The first presents a goal that the argument endorses; the second presents a situation that the argument contends must be changed if that goal is to be met in the foreseeable future.

--------------------------------------------------------------------------------------------------
29. GWD17-Q29:

Mary Wollstonecraft’s A Vindication of the Rights of Woman (1792) was unprecedented in its firsthand accounts of the indignities suffered by women and because it was eloquent and passionate in exposing and criticizing these indignities.

A. and because it was eloquent and passionate in exposing and criticizing

B. and in that it was eloquent and passionate when exposing and criticizing

C. as well as the eloquence and passion it had in exposing and criticizing

D. and in the eloquence and passion with which it exposed and criticized

E. but also its eloquent and passionate exposure and criticism of

------------------------------------------------------------------------------------------------------------

30. GWD17-Q30:

In a study conducted in Pennsylvania, servers in various restaurants wrote “Thank you” on randomly selected bills before presenting the bills to their customers.  Tips on these bills were an average of three percentage points higher than tips on bills without the message.  Therefore, if servers in Pennsylvania regularly wrote “Thank you” on restaurant bills, their average income from tips would be significantly higher than it otherwise would have been.

Which of the following is an assumption on which the argument relies?

A. The “Thank you” messages would have the same impact on regular patrons of a restaurant as they would on occasional patrons of the same restaurant.

B. Regularly seeing “Thank you” written on their bills would not lead restaurant patrons to revert to their earlier tipping habits.

C. The written “Thank you” reminds restaurant patrons that tips constitute a significant part of the income of many food servers.

D. The rate at which people tip food servers in Pennsylvania does not vary with how expensive a restaurant is.

E. Virtually all patrons of the Pennsylvania restaurants in the study who were given a bill with “Thank you” written on it left a larger tip than they otherwise would have.

------------------------------------------------------------------------------------------------------------

31. GWD17-Q31:

The agreement, the first to formally require industrialized countries to cut emissions of gases linked to global warming, is a formal protocol by which 38 industrialized countries must reduce emissions of these gases by 2012 or face heavy penalties.

A. by which

B. for which

C. under which

D. such that

E. wherein

   ------------------------------------------------------------------------------------------------------------

32. GWD17-Q32:

Navigators have known for thousands of years that the ocean has variable currents, but it is only in the last half century that a reasonably clear picture has emerged of the patterns and causes of ocean currents.

A. a reasonably clear picture has emerged of the patterns and causes of ocean currents

B. a reasonably clear picture of the patterns of ocean currents and their causes have emerged

C. a reasonably clear picture emerged of ocean currents, their patterns and the causes of them

D. there have emerged a reasonably clear picture of the patterns of ocean currents and what caused them

E. there had emerged a reasonably clear picture of the patterns of ocean currents and their causes

------------------------------------------------------------------------------------------------------------

33. GWD17-Q33:

Doctors hope that one day the body’s master cells, called stem cells, can be directed to grow in organs or tissues appropriate for transplant, use them to test drugs and potentially toxic chemicals, and may study them to gain insight into basic human biology.

A. transplant, use them to test drugs and potentially toxic chemicals, and may study them

B. transplant, using them to test drugs and potentially toxic chemicals, and studied

C. transplant, used to test drugs and potentially toxic chemicals, and studied

D. a transplant, use them for testing drugs and potentially toxic chemicals, and for studying

E. a transplant, used to test drugs and potentially toxic chemicals, and may study them

------------------------------------------------------------------------------------------------------------

34. GWD17-Q34:

During the month of May, crabs arrive on Delaware’s beaches to lay eggs.  Certain shorebirds depend on these eggs for food during their annual spring migration to their northern breeding grounds.  Delaware’s crab population has declined recently.  This decline, however, poses no serious threat to the migrating shorebird populations:  by remaining longer in Delaware, the birds will be able to eat enough crab eggs to allow them to complete their migration.

Which of the following, if true, most seriously weakens the argument?

A. No other food available to the birds on Delaware’s beaches is as nutritious and accessible as are crab eggs.

B. The decline in the number of crabs on Delaware’s beaches is due to the harvesting of crabs by humans.

C. There are more crabs on Delaware’s beaches than in any other area that the migrating birds pass through.

D. The crabs do not conceal their eggs.

E. The earlier in the season the shorebirds complete their migration, the more likely they are to breed successfully.

------------------------------------------------------------------------------------------------------------

GWD17-Q35 to Q37:

(This passage was excerpted from material published in 1996.)
      When a large body strikes a planet or moon, material is ejected, thereby creating a hole in the planet and a local deficit of mass.  This deficit shows up as a gravity anomaly:  the removal of the material that has been ejected to make the hole results in an area of slightly lower gravity than surrounding areas.  One would therefore expect that all of the large multi-ring impact basins on the surface of Earth’s Moon would show such negative gravity anomalies, since they are, essentially, large holes in the lunar surface.  Yet data collected in 1994 by the Clementine spacecraft show that many of these lunar basins have no anomalously low gravity and some even have anomalously high gravity.  Scientists speculate that early in lunar history, when large impactors struck the Moon’s surface, causing millions of cubic kilometers of crustal debris to be ejected, denser material from the Moon’s mantle rose up beneath the impactors almost immediately, compensating for the ejected material and thus leaving no low gravity anomaly in the resulting basin.  Later, however, as the Moon grew cooler and less elastic, rebound from large impactors would have been only partial and incomplete.  Thus today such gravitational compensation probably would not occur:  the outer layer of the Moon is too cold and stiff.

-------------------------------------------------------------------


35. Q35:

According to the passage, the gravitational compensation referred to in line 33 is caused by which of the following?

A. A deficit of mass resulting from the creation of a hole in the lunar surface

B. The presence of material from the impactor in the debris created by its impact

C. The gradual cooling and stiffening of the Moon’s outer layer

D. The ejection of massive amounts of debris from the Moon’s crust

E. The rapid upwelling of material from the lunar mantle

--------------------------------------------------------------------
36. Q36:

The passage suggests that if the scientists mentioned in line 19 are correct in their speculations, the large multi-ring impact basins on the Moon with the most significant negative gravity anomalies probably

A. were not formed early in the Moon’s history

B. were not formed by the massive ejection of crustal debris

C. are closely surrounded by other impact basins with anomalously low gravity

D. were created by the impact of multiple large impactors

E. were formed when the Moon was relatively elastic

---------------------------------------------------------------------
37. Q37:

Which of the following best describes the organization of the passage?

A. An anomalous finding is cited, the data used to support that finding are analyzed, and the finding is modified.

B. A theory about a phenomenon is introduced, data seeming to disprove that theory are analyzed, and the theory is rejected.

C. A phenomenon is described, a finding relating to the phenomenon is discussed, and a possible explanation for that finding is offered.

D. A debate among scientists regarding the explanation for a particular phenomenon is outlined, and one position in that debate is shown to be more persuasive.

E. The observation of an astronomical event is described, and two schools of thought about the explanation for that event are discussed.

------------------------------------------------------------------

38. GWD17-Q38:

All Y chromosomes in existence today are descended from a single ancestor’s who is thought to have lived about 140,000 years ago.

A. a single ancestor’s who is thought to have lived

B. a single ancestor’s who was thought to live

C. a single ancestor whom it is thought had lived

D. the Y chromosome of a single ancestor who is thought to have lived

E. the Y chromosome of a single ancestor whom it was thought had lived

------------------------------------------------------------------------------------------------------------

39. GWD17-Q39:

Which of the following most logically completes the passage?

On the whole, scientists do their most creative work before age forty, a tendency that has been taken to show that aging carries with it a loss of creative capacity.  An alternative explanation is that by age forty most scientists have worked in their field for fifteen or more years and that by then they have exhausted the opportunity for creative work in that field.  Supporting this explanation is the finding that ______.

A. the average age of recipients of scientific research grants is significantly greater than forty

B. a disproportionately large number of the scientists who produce highly creative work beyond age forty entered their field at an older age than is common

C. many scientists temper their own expectations of what they can achieve in their research work by their belief that their creativity will decline as they age

D. scientists who are older than forty tend to find more satisfaction in other activities, such as teaching and mentoring, than they do in pursuing their own research

E. there is a similar diminution of creativity with age in nonscientific fields, such as poetry and musical composition

   ------------------------------------------------------------------------------------------------------------

40. GWD17-Q40:

Contrary to financial analysts, who predicted last year that the market for home computers would dwindle, the personal computer industry continued to show strong growth in the first quarter of this year.

A. analysts, who predicted

B. analysts, whose predictions

C. analysts and their predictions

D. analysts’ predicting

E. analysts’ predictions

   ------------------------------------------------------------------------------------------------------------

41. GWD17-Q41:

Last year a record number of new manufacturing jobs were created.  Will this year bring another record?  Well, any new manufacturing job is created either within an existing company or by the start-up of a new company.  Within existing firms, new jobs have been created this year at well below last year’s record pace.  At the same time, there is considerable evidence that the number of new companies starting up this year will be no higher than it was last year and there is no reason to think that the new companies starting up this year will create more jobs per company than did last year’s start-ups.  So clearly, the number of new jobs created this year will fall short of last year’s record.

In the argument given, the two portions in boldface play which of the following roles?

A. The first provides evidence in support of the main conclusion of the argument; the second is a claim that argument challenges.

B. The first is a generalization that the argument seeks to establish; the second is a conclusion that the argument draws in order to support that generalization.

C. The first is a generalization that the argument seeks to establish; the second is a judgment that has been advanced in order to challenge that generalization.

D. The first is presented as obvious truth on which the argument is based; the second is a claim that has been advanced in support of a position that the argument opposes.

E. The first is presented as obvious truth on which the argument is based; the second is a judgment advanced in support of the main conclusion of the argument.
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